. VCE & PDF https://www.pass4itsure.com/1z0-238.html
g 2024 Latest passditsure 120-238 PDF and VCE dumps Download

PassditSure.com

170-2389%As

Oracle EBS R12: Install

Pass Oracle 1Z0-238 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-238.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-238 VCE Dumps | 120-238 Study Guide | 1Z0-238 Braindumps 1/3


https://www.pass4itsure.com/1z0-238.html
https://www.pass4itsure.com/1z0-238.html
https://www.pass4itsure.com/1z0-238.html

VCE & PDF https://www.pass4itsure.com/1z0-238.html
a 2024 Latest passditsure 170-238 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Sam has to apply a patch on his Oracle Applications system. He has already brought down the services on the
application tier. The database tier and the database listener are up and running. He goes through the readme of the
patch and discovers that three prerequisite patches need to be applied on the system before applying the main patch.
Now, Sam needs to check if these prerequisite patches have already been applied to the system, so he decides to
extract this information from the database. Identify the tables that would help him in extracting the above information
from the database. (Choose all that apply.)

A. ad_bugs

B. fnd_bugs

C. ad_patches

D. ad_patches_applied

E. ad_applied_patches

Correct Answer: AE

QUESTION 2

As a database administrator (DBA), you have been trying to apply a maintenance patch, but it has failed to run
successfully to completion. You check the AD Administration log file for an error. The log file reveals several entries that
are generic errors about the inability of patch codes to have access to product packages from the GL product modules.
You remember that one of the occasions when you should run the Recreate Grants and Synonyms AD Administration
utility is if the patch and the administrative sessions fail to run successfully to completion. You have found one occasion
to use this utility in the case above. Now choose three other occasions when you would run this process again. (Choose
three.)

A. after custom development

B. when applying a patch to the operating system

C. after applying a patch to the Applications technology stack

D. in case of incomplete database migrations (exports or imports)

E. when installing or maintaining underlying database components or options such as Replication

Correct Answer: ADE

QUESTION 3
Identify four statements that correctly describe a schema. (Choose four.)
A. A schema is a named collection of database objects.

B. The database user and the schema never have the same name.
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C. A schema can allow another schema to use its objects by granting access.
D. There is no one-to-one relationship between schemas and users in a database.
E. An Oracle Application products database objects are divided between the product schema and the APPS schema.

F. The concept of a database schema is directly tied to the concept of a database user, or a grant from the schema
owner.

Correct Answer: ACEF

QUESTION 4

Which four statements are true about the Rapid Clone utility? (Choose four.)

A. It removes components of the file system.

B. It does not remove any components of the file system.

C. It can be used to migrate an existing system to a new server.

D. It reimplements the saved configuration on the target system.

E. It is applied in Normal mode to all APPL_TOPs on the source system.

F. It preserves the Oracle Applications configuration information that is specific to the target system.

Correct Answer. ACDF

QUESTION 5

Which statement holds true when AutoPatch is run in test mode?

A. AutoPatch runs AutoConfig in test mode.

B. AutoPatch relinks executables in test mode.

C. AutoPatch runs SQL scripts or any executables in test mode.

D. AutoPatch generates forms, reports, menus, and PL/SQL libraries in test mode.

Correct Answer: A
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